
Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the slides (twice).
- Looking at them as little as possible, answer the questions.

The answers of Week 4’s questions should be handed to me at the next lecture at ISEG. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the slides). Keep a copy for yourself.

Reserve 4 hours per week to answer the questions. If you answer them in a serious way, you’ll need to study much less for the exam.
Warning: in June you’ll have exams of about 5 different courses in just two weeks. Therefore, if you do not study properly while answering the weekly questions, your chances of passing this course will be much lower.

Please write WEEK 4 in bold at the beginning of your answers.

Week 4
L7: Natural monopoly
1.Why are there as many unit costs as levels of output?
2. Why are there as many levels for the ‘normal profits price’ as levels of output?

3. What is the difference between a sector that is natural monopoly and other sectors? Provide examples of natural monopoly sectors.
4. Is there a problem if ten companies operate in a sector that is a natural monopoly? Explain.

5. If there is currently a single company established in a natural monopoly industry, why is it unlikely that a 2nd company will enter?
6. Are there problems if only one company operate in a sector that is a natural monopoly? Explain.
7. Are managers of state companies in general more competent than those of private companies? Explain.
8. Do managers of state companies have more incentive to minimize costs and provide products of good quality than those of private companies? Explain.
9. Do state companies invest in fewer bad projects than private companies? Explain.

…

Questions about L6:

Suppose the state wants to select the company that will build a new motorway connecting two cities.

10. a) What do companies bid in the 1st type of auction explained in the lecture?
b) What will be the result of the auction? Explain.

11. a) What do companies bid in the 2nd type of auction explained in the lecture?
b) What will be the result of the auction? Explain.

12. Which auction will drivers prefer? Explain.
13. Which auction will taxpayers prefer? Explain.

L8: Oligopoly (if EF do not fear entry by NFs)
14.What is an oligopoly?

15. Are there oligopolies in most services and retail sectors?

16. If one of the companies lowers the price below the other, what does it assume according to Bertrand?

17. If at a certain moment the two companies are setting a price equal to the UVC, will any of the companies have an incentive to lower the price below the other to increase its market share? Explain.

18.  If at a certain moment the two companies are setting a price above the UVC, will any of them have an incentive to lower the price below the other to increase its market share (according to Bertrand)? Explain.

19.  If at a certain moment the two companies are setting a price equal to the price that leads to normal profits, will any of them have an incentive to lower the price below the other to increase its market share (according to Bertrand)? Explain.

20.Why can’t the price stay at the UVC for long in the real world?

21. “It is rational for one of the companies to believe, and keep on believing, that the other will not respond to a price cut.” Do you agree? Explain.

22. If the two companies are setting a price below the monopoly level, and one of them raises its price above the other, does this have an incentive to follow? Explain carefully.
22. What will then eventually happen to the market price? Explain.
23. Which part of the market demand curve is it possible to observe in the real world? 
24.  Which problem results from that fact? Explain. 
25. How is that problem solved if one of the companies is much bigger than the others?
26. Suppose that there are 5 similarly sized companies (A, B, C, D and E) in an oligopoly market, and that one of them – A - raises its price towards the level it believes maximizes joint profits.
a) What will happen it is soon followed by B but not the others? Explain.

b) What will happen it is soon followed by C and D but not the others? Explain.
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